BREX—IK1 (A4RH)

M4 F12R 9
SLSATERKE RBWME) KEAREEHREE (E/)
oK 9:00
KERRBRER (BEREREKSE BKHF (EK )
=} Xz SR | KE | A E| pH [FILAY EE “FE | &Y £ S8 H &
E BB |\ A4 Hy
°C °C i mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 = 14.2 14.2 46.7 7.76

2 i 12.0 12. 4 23.9 7.78

3 = 9.0 11.8 6.9 1.75

4 i 9.0 1.3 5.5 1.77

5 = 12.4 11.6 4.4 7.84

6 = 11.0 12.2 4.2 7.80

7 i 8.5 1.6 3.2 7.78 55.0] 67.7 136 7.8/ 0.16/ <0.02
8 i 7.6 10.8 4.3 7.81

9 = 8.2 10.3 3.6 7. 81

10 i 9.5 9.9 5.5 7.84

11 i 10.0 K
12 i 9.4 1.0 13.1 7.83

13 [55] 7.8 10.1 4.5 7. 81

14 i 13.0 10.6 5.5 7.87

15 i 4.8 9.8 3.9 7.87

16 i 6.4 9.2 3.4/ 7.84

17 = 7.0 8.6 3.4/ 17.80

18 i 8.1 8.9 3.1 7.90

19 i 2.5 8.6 3.5 7.90

20 i 2.9 1.1 5.9 7.817 55.3 69.4 148 8.7 0.33] <0.02
21 = 5.0 7.6 3.3 7.88

22 [55] 6.8 7.8 5.8 7.80

23 i 5.8 8.0 24.4 7.74

24 i 3.5 7.0 9.5 1.72

25 i 5.0 6.3 1.1 1.73

26 i 3.0 6.6 4.6 7.81

217 i 6.0 7.1 3.7 7.82

28 i 5.0 7.0 3.7 7.89

29 i 12.5 8.0 1.5 1.73

30 i 4.8 7.2 14.2 1.7

31 = 6.0 1.4 2.8 1.72
Ty 1.6 9.4 1.9 71.81 55.2 68. 6 142 8.3 0.25 <0.02
== 14.2 14.2 46.7 7.90 | 55.3 69. 4 148 8.7 0.33 <0.02
=K 2.5 6.3 1.5 1.1 55.0 67.7 136 7.8 0.16 <0.02




HX—TK1 (A48

M4 F12R S
SLSATERKE EBWME) KEAREEHREE (E/)
FROKEERE 9:00
KERRBRER (BERERAEKS Kt GRK )
=} PR3 SR | KE | A E| pH [FILAY EE “FE | &Y £ S8 H &
E BB |\ A4 Hy
°C °C |5 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 = 14.2 14.6 1.7 7.30

2 i 12.0 13.5 1.5 7.34

3 = 9.0 12.5 1.8 7.46

4 i 9.0 1.7 2.2 7.48

5 = 12.4 1.7 1.1 7.52

6 = 11.0 12.2 1.7 7.66

7 i 8.5 12.0 1.9 7.65 52.5 7.2 130 6.8/ 0.08 <0.02
8 i 1.6 1.6 1.9 7.64

9 = 8.2 10.7 2.2 7. 61

10 i 9.5 10.7 1.7 7.68

11 i 10.0 K
12 i 9.4 10.9 1.1 1.72

13 551 1.8 10. 4 2.9 7.64

14 i 13.0 10.3 1.6 7.61

15 i 4.8 10.1 2.1 7.65

16 i 6.4 9.5 1.8 7.56

17 = 1.0 8.9 1.9 1.57

18 i 8.1 9.1 1.8 7.58

19 i 2.5 9.0 1.6 7.64

20 fE 2.9 8.0 1.0l 7.69 53.3 68.0 144 8.3 HFEBRBOLOM% - VAU TF—a kL
21 = 5.0 1.4 1.5 7. 61

22 [55] 6.8 1.1 2.1 7.61

23 i 5.8 7.8 1.9 7.52

24 i 3.5 7.4 2.3 7.65

25 i 5.0 6.9 1.5 1.47

26 i 3.0 6.9 1.2 7.50

217 i 6.0 6.9 1.2 7. 61

28 i 5.0 7.8 2.1 7.58

29 i 12.5 8.2 1.0l 7.68

30 i 4.8 1.1 1.2 7.68

31 = 6.0 1.8 1.5 7.60
Ty 1.6 9.7 1.7 7.58 | 52.9 69. 6 137 7.6 0.08 | <0.02
== 14.2 14.6 2.9 1.72 53.3 71.2 144 8.3 0.08 | <0.02
=K 2.5 6.9 1.0 7.30 | 52.5 68.0 130 6.8 0.08| <0.02




